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Plot Sensor and FgRec Data
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P3-14

BYiE) | GEBERTIC (RD) | EBE (BAH/HK) | BREE (BF/R) | X8 ERR

05:45 283 150.0 2.888 ] B218@05:45 Bzh (FRAEESE)
06:45 283 150.0 2.888 i B21%@06:45 Bzh (FRAKREE)
08:25 283 150.0 2.888 1] Ri%@08:25 Bz (KRFEERE)
11:25 283 150. 0 2.888 (=& BRige11:25 Bzl (GRPFERSE)
13:10 283 150.0 2. 888 A ;Ri&@13:10 Bzl (RPBfEREE)
13:45 283 150.0 2. 888 ] B1%@13:45 Bzh (GRAERESE)
14:20 283 150.0 2.888 A BRige14:20 Bzl (GRPFEEE)
15:10 283 150.0 2.888 (=& B2i18@15:10 Bzh (RAEESE)
16:25 283 150.0 2.888 [Z=| #FiTe16:25 Bz (GRAERSE)
Bit]2547.0 (9%) 1350.0 EUHIKEC: 2200, PH: 6.0

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRERE150. 0 ml.

FREVGE NS KiHKPH 6. 005
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150.0), FAEEHT—@ % XA HS
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P3-14

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:15 283 150.0 2.888 RS {Ri&e07:15 Hah (REAERSE)
07:50 283 150.0 2.888 BE| 1Ri%e07:50 B (RFERESE)
09:00 283 150.0 2.888 5| {Ri%@09:00 Bz (REEREE)
09:50 283 150.0 2.888 RS {Ri%&e09:50 Bz (REERE)
10:35 283 150.0 2.888 BS| 1Ri%e10:35 Bz (GREMEEEE)
11:15 283 150.0 2. 888 Bl Rige11:15 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:30 283 150.0 2.888 B 1Ri%e12:30 B3 (GREMEESE)
13:00 283 150.0 2. 888 S| 1Ri%e13:00 B (RFEA{EREE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
14:05 283 150.0 2.888 RS Rige14:05 Bz (REAEHE)
14:40 283 150.0 2. 888 BE| Ri%e14:40 B (GRF{EREE)
15:20 283 150.0 2.888 B Rige15:20 Bz (REAERSE)
16:05 283 150.0 2.888 el Rige16:05 BHa (REAEHE)
17:10 283 150.0 2. 888 BE| Ri%e17:10 B (GRF{EREE)
21t 4245.0 (15)%) 2250. 0 3 HEKEC: 2200, PH: 6.0

MEREHLER 2 5 MEIELRTT (184.0 :
PRIALBRIERE147.0 ml.

FREVE NS KiHKPH 6. 005
FHERECE (1847.0 vs 3740.0) 145
FREVEIN S K IKEC 2200. 0

147.0), AlEEHT—R % XA HS




P3-14_0, Day=72 (2025-06-11)
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00 Warning: [col ['FVI',| "FVO’'] missing
-0
4
+ 200
T+ 150
- 100
- 50
0
4
0.8 -
0.6 1
0.4 -
0.2 A
Warning: [col ['WC1’, "WC2'] missing
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Warning: |col ['ECB’, "ECC’'] missing
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